Bidh— 1.2 %%

.2.1 &%
Fi,=—Ficos30° =—200X0.866 =—173.2N
Fi,=—Fisin30° =—200X0.5=—100N
Faor=0
Fuy=F,=-150N
Fas=Fsc0s20° =200X0. 408=81. 6N
Fay=F;X sin20° =200X0. 912=182. 5N
Fi,=-F:sin30° =-250X0. 5=-125N
Fiy=F.c0s30° =250X0. 866=216.5 N

1.2.2 &%
Tx =0 Tv =2(T; sin30° +T, sin50° )=2(700X 0. 5+600 X0.262)=1014. 4N
T=1014.4N( 1)

1.2.3 %% Ny =32.4KN N, =45. 85KN

1. 2.4 %%:  R=14. 14KN(\)  Ru=10KN (—) Ruw=10KN( 1)
1.2.5 %% Ne=bKN(EJJ)  Ru=4.33KN (<) Ruw=2. 5KN( 1)
1.2.6 &% Ne=l100N($7J7) Np=122.8 N(f7J7)  W=136.8N
1.2.7 %% NAC=35.86KN(Hs/Jj) NAB=9. 28 KN($7Jy)

1. 2.8 ZZ%: NAC=136.6KN(H7J)) NAB=242.9 KN(J&JJ))

1.2.9 &% (a) NAC=1.15F (JEJ7) NAB=0.577F ($7)7)
(b) NAC=1.15F (7)) NAB=0.577F (J:7JJ)
(c)  NAC=0.866F (HJj) NAB=0.5F ($77)
(d)  NAC=0.577F ($77J3) NAB=0.577F ($7)7)

1210 % Np=2 UEH)

1.2.11 %&%: T=1732KN(} )N, = 13.4KN(HE))

Nyp = 1.15KN
1.2.13 %%: (a) m,(P) =PI () my,(P)=0 (¢) m,(P) =Plsina
(d) m, (P) = —Pa (&) my(P)=P(L+7) () m,(P)=PI22E

cosa

L2.14 %%: (1) my,(F)=—-03KN.m (2) Fy =0.577KN(>)
(3) Fppin = 0.5KN(J7 M HEH T 0A #F \) (4) 7£ OA # L#H 0 £ 0. 25m 4k

1.2.15 &%: my(F) = —164KN.m (G $ 5 7))
1.2.16 %%: m=—5625N.m (WiH%lH)



1.2.17 %% (1) R, =271KN(1)  (2) Ry = 3.9KN(N) (3) Ry = 2.5KN(N)
(¢) Ry=0.471P(\)Rp = 0.471P(R\)  (d) R, = P(DRy = P(1)

1.2.19 Z&%: Ry =2KN()Rg = 2KN(1)

1.2.20 &Z%: R, =0.75KN(=)Rz = 0.75KN (<)

1.2.21 &%: Rux = 25KN(-)R,y = —43.3KN()m = —3080KN. mm (i #h#%)
1.2.22 Z%: Ryx=722N(-=)R,y = —125N(1)

Rgx = —72.2N(<)Rpy = 125N(T)
Rex = —=125N(<)Rgy = 93.75N(1)
Rpx = 125KN(=)Rpy = —93.75N (1)
Rex = —125KN(<)Ray = 93.75N(1)
1.2.23 %%:  R=280KN(\)M, = —33KN.m(iH k%)
1.2.24 %%:

(a) Ry =-20(kN) (=); R, =288(kN) (t): Ry, =259(kN) (1)
(b) Ry =7.07(kN) (—=): R, =12.07(kN) (—=); m,=38.28(kNem) ( 7}

(¢) Ry =3(kN) (=) R, =1875(kN) (1); Ry =0.125(kN) (1)

1.2.25 &%

Ry =16.67(kN) (=) RAy =16.67(kN) ( 1 ); RBy =26.66(kN) (1 ); R, =—-16.67(kN)
(<); Ry, =16.67(kN) (1t );

1.2.26 &%

(2) Ry =3(kN) (=) R, =5(kN) (1) Ry =-1(kN) (4>

(b) Ry =-3(kN) (=); R, =-025(kN) (4); Ry =425(kN) (1)
1.2. 27T %%

Ru = —12(kN) (=) R, =45(kN) (1); m,=27.8(kNem) ¢ b
1.2. 28 %%

Ry =—L7(kN) (=) R, =12(kN) (1) Ry =11(kN) (1)

1.2.29 %%

Ru =0(KN): R, =17(kN) (1) m,=33KNem) V)

1.2.30 &%

(a) Ry =0(kN); R, =1133(kN) (1); Ry =86.7(kN) (1)

(b) Ry =0(kN); R,, =193(kN) (1) Ry =10.7(kN) (1)

(¢) Rg=0(KN): Ry, =16(kN) (1); m, =49(kNem) (/1)



(d) Ry =0(kN); R, =20(kN) (1) m,=40(kNem) (/1)
() Ry =0(KN); R, =58(KkN) (1) Ry =892(kN) (1)

() Ry =0(KN); R, =35(kN) (1) Ry =95(kN) (1)



